ANSWERS - VOLUME 1: EQUILIBRIUM
Chapter 7, Gas Pressures and Hydrostatic Pressures

problem 7.36, page 281

Remarks: See 8§7.3, page 255 till 269 and example 4
Also see 87.2, page 248 till 254

ANSWETS:
a. A tensile force in direction of the curved weirs: N = 6750 kN

b. Total force on pier B: 2N =13500 kN

Remarks:

a.

Resultant from a 1 m width part of the weir: 281,25 kN.

Replace the water pressure by a distributed load perpendicular to
the curved weirs: 281,25 kN/m

Tensile force in the weir (see 87.2)

N =q,,r =(281,25kN/m)(24 m) = 6750 kN
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